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*1*2

*3

IT "5 Census, /ICTS 2006
"5 KIEC 2006
DST, ViU 2005
NIA 2006
EEC 50 250
EC . Eurostat, EU "8 2007 1 250
EU15 "
EC Statcan, SECT 2006
EC
EC 5 g ABS, BUIT 2005-06
50 250
NIA 2006 250
DESTIS, N\VITU 2007 1
ONS,ECSOB 2007 1
DST, DVBA/ 2007 1
EU15 7 Eurostat, EU "8 2007 1
g ABS, BUIT 2002-03
T DESTIS, N\VITU 2007 1 50 250
250
BJS&Census, CSS 2001
NIA 2006
50 250
. “ 250
10 Eurostat, EU 8 2005 1
EU15 7
50 250
NIA 2006 250
*1
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*2
CSS: 2001 Computer Security Survey ICTS: Information and Communication
Technology Survey
SECT: Survey of Electronic Commerce and Technology
NVITU: Nutzung von Informationstechnologie in Unternehmen Use of Information Technology in
Enterprises
ECSOB:E-commerce Survey of business
DVBAI: Danske virksomheders brug af it Use of | DVIU: Danske virksomheders it-udgifter IT
ICT in Danish Enterprise Expenditure in Danish Enterprise
EU EU . Eurostat model for a Community Survey on ICT Usage and e-Commerce in
Enterprises
BUIT: Business Use of Information Technology
*3 oo
*4
FAX FAX
= ><100
*5 IT SNA
*6
EC BtoB EC EC
EC BtoB BtoC EC EC BtoB BtoC
*7 EU15
*8 EU 2002 6 EC e-Europe
EU IT
IT EU
EU
*9 7 6 2005-06 2005 7 2006 6
*10
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*2
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50 9,500
ICTS 1 46,200
CCS 500
10 4,000
1 10,930
SECT 19,000
NVITU 10 20,000
ECSOB 10 8,000
DVBAI 10 4,231
DVIU 10 3,076
EU EU 10 "
BUIT NA 9,000

*1

BUIT: Business Use of Information Technology
DVBAI: Danske virksomheders brug af it
ECSOB:E-commerce Survey of business

NVITU:

Unternehmen

*2
*3 EU

von

Informationstechnologie

CSS: 2001 Computer Security Survey
DVIU: Danske virksomheders it-udgifter

EU

on ICT Usage and e-Commerce in Enterprises

. Eurostat model for a Community Survey

ICTS: Information and Communication Technology Survey

SECT: Survey of Electronic Commerce and Technology
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